Homework: Acceleration                                                                                 UNIV 1301 


Name:_____________________________                                     

On the surface of the Moon, the gravitational constant is only about 1.6 m/sec2. Thus the acceleration of a falling object is -1.6 m/sec2. 

(1) Suppose the initial velocity (during the first second) of a falling object on the Moon is 4 m/sec, i.e., the object is gaining height at the beginning. Predict the velocity of the object over time: 

	Time (sec)
	Velocity (m/sec)

	1
	4

	2
	

	3
	

	4
	

	5
	

	6
	

	7
	


(2) Graph the velocity against time:

[image: image1.wmf]1

2

3

4

5

6

time

H

sec

L

-

6

-

4

-

2

2

4

vel

.

H

m

�

sec

L


(3) Now assume additionally that the object is at a height of 2.6 m above the surface of the Moon at time t=0. Predict the height of the object at time t:

	Time (sec)
	Height (m)

	0
	2.6

	1
	

	2
	

	3
	

	4
	

	5
	

	6
	

	7
	


(4) Graph the height of the object against time: 
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(5) Estimate the maximal height the object attains.

(6) What is special about the velocity at the moment when the object reaches its maximal height?
2                                                                                                                                                  

